108- 22 M BB EFHES

Rk izl %P1 | &R Egk g E£RE
1 ANfLB FEAN %1 2 107***5 >TO0 4,500
2 AP FEAN %1 4 105***5 500 5,000
3 ANfLF FEAN %1 4 105***3 Zal[0]0) 5,000
4 ANt B FEIN % 3 106***4 | £ROO 4,500
5 ANfLF EE A 2 107***6 :[0]e) 5,000
6 AP PR A 2 107***5 500 5,000
7 AL P EE A 1 108***6 00 5,000
8 AP PR A 3 106***9 %00 4,500
9 ANfLF AN 3 106***0 | ZJ00 4,500
10 AP ANZEN 3 106***5 ;TO0 4,500
11 AL P AN 4 105***7 FF00 4,500
12 AP ANZEN 4 105***5 500 4,500
13 AfIBE | B A 2 106***7 | EROO 5,000
14 ANt B e 2 107***8 #00 5,000
15 AL B S 2 106***7 ZE00 4,500
16 ANt B e 4 104***5 =00 4,500
17 AR | AftERE | 2 107***7 200 15,560
18 TERR TEA 1 108***1 @00 12,000
19 TERR TEA 1 108***4 | fH00 12,000
20 TERR TEA 2 107***Q OO 10,000
21 TERR TEA 4 105***6 00 10,000
22 TERR TEA 2 107***6 £loo 10,000
23 TERR TEA 3 106***8 MO0 6,534
24 TERR TEA 2 107***4 | Z00 6,534
25 TERR TEA 3 106***3 =00 6,534
26 TE[7 1EM % m 105***5 5800 14,747
27 TE[R 1EM % = 106***5 Z00 5,000
28 TE[7 1EM % m 105***5 BROO 5,000
29 TE[R 1EM % = 106***4 BEOO 5,000
30 TE[7 1EM % - 107***4 #oo 5,000
31 TE[R 1EM % — 108***Q ;100 5,000
32 TE[7 1EM % - 107***9 %00 5,000
33 TERR iz | 1A | 108***4 | EO00 13,000
34 TEpR | #mz | 1A | 108***1 | #BOO 18,126
35 TERR Mz | 1A | 108***8 =00 13,000
36 TERR iz | 1B | 108***2 200 13,000
37 TERR TzEE [ 2A | 106***7 400 4,080
38 | BB | ETA 5 105***4 | Z=00 9,762
39 | E B | BT A 4 105***4 | %00 9,763
40 | BB BT A 4 105***9 5200 9,763
41 | EFREBRERE| BT A 4 105***5 BROO 9,763
42 | ERB8R| BT A 3 106***7 500 9,763
43 | BEREBRR| BT A 2 107***1 | #O0O0 9,763
44 | BB | BT A 1 108***6 800 9,763
45 | BEFREBR| EEA 4 105***9 | EROO 7,516
46 | EHEBR| BEEA 2 107***6 | 2J00 7,517
47 | EREBR| EEA 2 107***6 FROO 7,516
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48 | BB | BEEA 2 107***7 00 7,517
49 | BEFREBRE| EEA 2 107***5 MO0 7,517
50 | BB | BEEA 1 108***2 FROO 7,517
51 | BB | EEA 1 108***0 FROO 11,050
52 | BB | BEEA 3 106***3 ZE00 11,050
53 | Bl | BEEA 3 106***1 FROO 11,050
54 | BB | BEEA 4 105***3 £J00 11,050
55 | EiEEPr | BHEAE | 4A | 105***8 FROO 7,545
56 | EiEEPr | BHEARE | 3A | 106%**2 =00 7,545
57 | EiEEk | B AR | 3A | 106%**0 =00 7,545
58 | EiEEPr | BHEARE | 3B | 106%**2 200 12,450
59 | EBEEfr | EHIBE | 2A | 1077 =00 12,450
60 | EEEBMR | EEEL | — | 108***5 | #HOO0 5,000
61 | EBEER | EEARL | — | 107***2 ==(e]e) 4,363
62 | BEEMR | EHARL| — | 1070 [ ZFOO 4,361
63 | BEEPR | EAL | — | 107***3 EZ00 4,361
64 | BEEBMR | AL | — | 107%*%5 £J00 4,361
65 | EBEEPR | BAL | — | 107***6 2200 4,361
66 | BEEBMR | BEAL | = | 106%**2 =00 5,000
67 | EEEMR | EEAL| ¥ | 105***0 [ FOO 5,000
68 | EBiEEPR | AR | K= 106***5 =[fe]e) 10,024
69 | EiEEPr | AR | K=| 106***8 &EOO 10,024
70 | EiESPk | EERE| 2 107***7 500 3,054
71 | EEEBkk | BEEE| 3 106***Q OO 3,054
72 | BIEER | B4 4 105***3 Z00 18,000
73 | BBk | B4 4 105***4 FROO 8,500
74 | BIEER | B4 4 105***5 00 20,000
75 | BBk | B4 3 106***1 Z00 9,000
76 | BIEER | B4 3 106***7 BROO 7,000
77 | BBk | B4 3 106***9 +00 10,500
78 | BIEER | B4 2 107***6 +00 6,000
79 | BBk | B4 2 107***2 FROO 11,000
80 | BIEER| B4 2 107***3 5R00 14,000
81 | BBk | B+ 2 107***8 | E200 12,985
82 | BIEER| B+ 2 107***1 MO0 3,000
83 | BBk | B+ 2 107***1 200 11,000
84 | BEER| B4 2 107***9 5200 13,000
85 | EIEEk | B+ 2 107***9 [ FOO 8,000
86 | BEEMR| B+ 2 107***8 F00 11,500
87 | BBk | B+ 1 108***7 %00 14,000
88 | EIEEly | B1i 1 108***4 | £ROO 12,000
aE 728,238




